Verbal Reasoning Test

Total questions : 10

Time allowed 110 mins

Choose the sentence which is most appropriate — grammatically, semantically and logically.

1.

Shooting in underwater in ocean sequences was not easy.
Shooting in an ocean with underwater sequences was not easy
Shooting underwater sequences under ocean was not easy
Underwater shooting sequences in ocean was not easy
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AnS,

A tale of friends stranded at sea
A stranded tale of friends at sea
A tale of friends at stranded sea
None of the above
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Ans.

Both rate of inflation and bond yields is going up.

Along with the rise in bond yields, the rate of inflation is also going up
Bond yield coupled along rate of inflation are going up

Not only bond yield but rate of inflation are going up
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Select the word or words that best complete the sentence

4. The satirical play put on by the students was meant to be good natured, though some felt
the humor was a bit

a. Caustic b. Demonstrative
c. Beneficial d. Vacuous

ADnS.
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5. She was success and eager to create a name for herself.
a. Impatient for b. Sated by
c. Impassive to d. Conceited to
Ans.
6. Justa here, any increase in interest rates may impact the profitability of banks
a. intension b. caveat
c. saying d. alarm
Ans.

Choose from among the given alternatives the one which will be a suitable to fill in the
blank in most of the sentences.

7. A. People sensed
B. A bad case had come in—a person with a smashed arm.
C. And then, without warning, struck.
D. The dogs were the first to recognize the signs of oncoming

a. tragedy b. accident
c. disaster d. calamity
Ans.
8. A. The men there have fought and emotional withdrawal, and were
more capable of helping Jim.
B. But does occasionally inflict all the adults.

C. A person who is deeply hurt feels very
D. It is hard to survive this feeling of

a. dejection b. lonely
c. trouble d. depression
Ans.

9. A. I have had a small power of
B. Down with a very high fever, he suffers from frequents fits of
C. They are now bitter enemies —all because of a small .
D. Her is the most creative thing she has ever possessed.
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a. illusion b. imagination
c. hallucination d. misunderstanding
Ans.

10. A. Communism states that every individual must live for the

B. The of the affairs of the nation is deplorable.

C. have been laid down by the United States, states The Statesman
D. No has succeeded in gaining complete autonomy from the Federal
government.

a. state b. nation

c. government d. condition
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